
Example Candidate Responses – Paper 2

Cambridge IGCSETM

Pakistan Studies 0448

For examination from 2020

Typesetting instructions: 

1. Update paper number.
2. Update the subject title and syllabus code.
3. Update examination year.



© Cambridge University Press & Assessment 2021 v1

Cambridge Assessment International Education is part of Cambridge University Press & Assessment. Cambridge 
University Press & Assessment is a department of the University of Cambridge.

Cambridge University Press & Assessment retains the copyright on all its publications. Registered centres are 
permitted to copy material from this booklet for their own internal use. However, we cannot give permission to centres 
to photocopy any material that is acknowledged to a third party even for internal use within a centre.

Typesetting instructions: 

1. Update copyright year.



Introduction........................................................................................................................................................................4

Question 2.........................................................................................................................................................................6
Example Candidate Response – high............................................................................................................................6
	Example Candidate Response – middle........................................................................................................................9
	Example Candidate Response – low...........................................................................................................................14

Question 4.......................................................................................................................................................................18
	Example Candidate Response – high..........................................................................................................................18
	Example Candidate Response – middle......................................................................................................................23
	Example Candidate Response – low...........................................................................................................................28

Question 5.......................................................................................................................................................................33
	Example Candidate Response – high..........................................................................................................................33
	Example Candidate Response – middle......................................................................................................................39
	Example Candidate Response – low...........................................................................................................................45

Contents



Example Candidate Responses – Paper 2

4

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE Pakistan Studies 0448, 
and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s curriculum 
and assessment objectives. 

In this booklet candidate responses have been chosen from the November 2020 exam series to exemplify a range of 
answers. 

For each question, the response is annotated with a clear explanation of where and why marks were awarded or 
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is 
possible for you to understand what candidates have done to gain their marks and what they could do to improve their 
answers. There is also a list of common mistakes candidates made in their answers for each question. 

This document provides illustrative examples of candidate work with examiner commentary. These help teachers 
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some 
circumstances, such as where exact answers are required, there will not be much comment.

The questions, mark schemes and inserts used here are available to download from the School Support Hub. These 
files are: 

0448 November 2020 Question Paper 2
0448 November 2020 Mark Scheme 2

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support

Introduction

Typesetting instructions: 

1. Paragraph 1: update subject title and syllabus code.

http://www.cambridgeinternational.org/support
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Typesetting instructions: 

1. Update master pages: A-Master and C-Master to show correct 
paper number, subject and syllabus code. 

How the candidate could have improved their answer
• (a)(ii) The candidate identified investment as a factor for the location and development of airports. However,

investment is not a location factor and ‘buying planes’ is not a factor for where airports are located and developed.
To improve their answer, the candidate needed to highlight or underline the command word and key words in the
question to help them focus on what the question asked them.

This section explains how the candidate could 
have improved each answer. This helps you to 
interpret the standard of Cambridge exams and 
helps your learners to refine their exam technique.

Common mistakes candidates made in this question
• (a)(i) When asked to describe a location, many candidates used vague terms like ‘near to’, ‘close to’ and often they

did not refer to named examples from the map or resource provided. Candidates rarely used the scale.
• (a)(ii) Many candidates wrote a bullet point list when asked to describe factors. They needed to avoid lists and

bullet points and ensure that they described their idea succinctly and precisely.

Lists the common mistakes candidates made 
in answering each question. This will help your 
learners to avoid these mistakes and give them 
the best chance of achieving the available marks.

Often candidates were not awarded 
marks because they misread or 
misinterpreted the questions. 

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the Examiner comments. 

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 
to interpret the standard of 
Cambridge exams so you can 
help your learners to refine 
their exam technique.

Answers are by real candidates in exam conditions. 
These show you the types of answers for each level.
Discuss and analyse the answers with your learners in 
the classroom to improve their skills.
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Question 2

Example Candidate Response – high Examiner comments

1  The candidate correctly 
identifies the direction from a named 
location on the map and is awarded 
1 mark. 

2  The candidate identifies that the 
airport connects with the Kashmir 
Highway and is awarded the second 
mark.

3  The candidate uses compass 
directions and identifies a relevant 
feature from the map to describe 
the location of the New Islamabad 
airport. They are able to write their 
answer in a succinct manner.

Mark for (a)(i) = 2 out of 2

4  The candidate is awarded 
the first mark for ‘abundant’ land 
available to make runways. 

5  The candidate gives an 
incorrect answer. Investment is not 
a factor to encourage the location 
and development of airports, so they 
are not awarded any marks. 

6  The candidate is awarded a 
second mark for ‘near to population 
so that it is accessible to more 
people’, however to improve their 
answer the candidate could say why 
this is important for example ‘for 
employees or for customers’. 

Mark for (a)(ii) = 2 out of 3

7  The candidate needs to include 
more details here about what is 
expensive, for example the ticket, 
or compared to other methods of 
transport. They could also include 
that many people can’t afford to 
pay for air transport. ‘Expensive’ on 
it’s own is too vague. They are not 
awarded any marks for this point.

8  This is not relevant to the 
question because any mode 
of transport can ‘crash’, so the 
candidate is not awarded any 
marks. 

1
2

3

4

5

6

7

8
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Example Candidate Response – high, continued Examiner comments

9  The candidate links high taxes 
to the increasing transportation cost 
for goods, so they are awarded 1 
mark.

10  The candidate is awarded 1 
mark here because fragile goods 
can be broken. 

Mark for (a)(iii) = 2 out of 4

11  The candidate describes 
‘cranes’ from the picture and is 
awarded a mark.

12  The candidate describes 
‘containers’ from the picture and is 
awarded the second mark.

13  The candidate describes ‘ships’ 
from the photograph and is awarded 
the third mark.

Mark for (b)(i) = 3 out of 3

14  Bin Qasim is a named seaport 
in the mark scheme. 

15  Gwadar seaport is a named 
seaport in the mark scheme. 

16  Candidate does not offer a third 
seaport so cannot be awarded the 
third mark. 

Mark for (b)(ii) = 2 out of 3

17  The candidate refers to the 
movement of goods through the 
Arabian Sea to other countries 
like Iran and is awarded one mark 
for this. They do not develop this 
point so cannot be awarded a 
development mark.

18  The candidate is awarded one 
mark for their idea of relatively 
cheap transportation costs.

19  The candidate is awarded 
a development mark when they 
suggest that this would result in 
huge profits. 

Mark for (c) = 3 out of 4

17

11 12
13

14
15
16

18

19

9

10
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Example Candidate Response – high, continued Examiner comments

20  The candidate makes their 
first developed statement which 
places the answer in Level 2. The 
statement starts from ‘but building 
major infrastructure is expensive...’ 
They discuss what is expensive 
and how this will lead to a negative 
balance of trade. At this point the 
answer is placed in Level 2 with 3 
marks. 

21  The candidate makes a second 
developed statement for the 
opposite side of the argument. The 
candidate discusses how building 
roads means that goods can be 
transported to areas railways can’t 
reach such as mountainous areas. 
At this point the answer is placed in 
Level 2 with 4 marks.

22  The candidate provides their 
own opinion when they say they 
think building small infrastructure 
projects is best. The addition of this 
point places the answer in Level 3 
and they are awarded 5 marks for 
this overall response. 

Mark for (d) = 5 out of 6

Total mark awarded = 
19 out of 25

How the candidate could have improved their answer
• (a)(ii) The candidate identified investment as a factor for the location and development of airports. However, 

investment is not a location factor and ‘buying planes’ is not a factor for where airports are located and developed. 
It is advised that candidates highlight or underline the command word and key words in the question to help them 
focus on what the question asked them.

• (a)(iii) The candidate was awarded both marks for disadvantages of air transport for goods. To improve their 
answer for disadvantages of air transport for people, they needed to avoid vague statements such as ‘it is 
expensive’ and be more specific, for example, ‘the cost of air tickets is expensive’ would have been acceptable for 
a mark. They could also give flight cancellations or delays due to bad weather for the second disadvantage of air 
transport for people.

• (b)(i) The candidate adequately described the photograph and was awarded all full marks. For questions like this, 
candidates should be encouraged to say what they could see and not focus on what they couldn’t see or on what 
they think should have been there.

• (b)(ii) To be awarded full marks, the candidate needed to include another named seaport.
• (c) The candidate needed to develop the first idea in their answer, for example they could have said ‘which would 

encourage/promote international trade’.
• (d) To be awarded full marks the candidate could have included a named example such as a named new highway, 

railway or airport. 

20

21

22
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Example Candidate Response – middle Examiner comments

1  The candidate needs to be 
more specific, for example they 
could say ‘the airport connects to 
Kashmir Highway’. 

2  The candidate uses ‘near’ 
and they are awarded no marks. 
They need to be more specific 
and provide either the distance or 
direction from a named city. Stating 
‘the city and settlements’ is too 
vague. 

3  This is not relevant to the 
question.

Mark for (a)(i) = 0 out of 2

4  The candidate only states 
‘population’. To be awarded a mark 
for this point, they need to include 
more detail, such as ‘near to areas 
of large population or large cities’.

5  The candidate is given the 
benefit of the doubt and awarded 
a mark. Although they have not 
stated ‘near to industries’ this is 
implied because they have gone 
on to say that ‘goods can easily be 
transported as well as exported or 
imported’. This links with the third 
point of the mark scheme. 

6  The candidate is awarded a 
second mark for their idea of the 
airport linking with other roads to 
make it accessible for people. This 
links with the tenth point of the mark 
scheme.

Mark for (a)(ii) = 2 out of 3

1

2

3

6

5

4
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Example Candidate Response – middle, continued Examiner comments

7  The candidate is awarded a 
mark for noise pollution.

8  The candidate is awarded a 
mark for air pollution which is from 
the ninth point of the mark scheme. 
It is acceptable to award two marks 
within one statement if they are 
on separate points on the mark 
scheme. 

9  The candidate is not awarded 
any marks here as they are not 
clear about where the traffic is. The 
traffic on surrounding roads would 
be a secondary or indirect effect of 
the development of the airport so is 
not valid for this question.

10  This is a vague answer so the 
candidate is not awarded a mark. 
They need to add more detail, for 
example, they could include that 
it is ‘expensive to transport goods 
internally or internationally by air’. 

11  This is an incorrect statement 
because perishable and fragile 
goods can both be transported 
via air transport. The candidate 
is not awarded any marks for this 
statement. 

Mark for (a)(iii) = 2 out of 4

10

9

8

7

11
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Example Candidate Response – middle, continued Examiner comments

12  The candidate correctly 
describes ‘cranes’ from the 
photograph - third point on the mark 
scheme.

13  The candidate correctly 
describes ‘containers’ from the 
photograph - fourth point on the 
mark scheme. 

14  ‘Vehicles’ is too vague so the 
candidate cannot be awarded a 
mark for this.

15  The candidate gives a 
developed explanation.

Mark for (b)(i) = 2 out of 3

16  This is a correct answer. 

17  This is a correct answer. 

18  This is an incorrect answer. 

Mark for (b)(ii) = 2 out of 3

19  The candidate recognises that 
seaports are important for ‘carrying 
out exports and imports’. However, 
they do not develop this point so are 
only awarded 1 mark and not the 
second development mark.

20  The candidate is awarded a 
second mark here for ‘investors 
being attracted to the seaport’. 
However, they do not develop this 
point further so they cannot be 
awarded a development mark.

21  The candidate makes another 
valid point, however because 
candidates need to develop two 
points rather than giving three or 
four single points, they cannot be 
awarded any extra marks for this.

Mark for (c) = 2 out of 4

17

12
13

14

15

16

18

19

20

21
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Example Candidate Response – middle, continued Examiner comments

22  The candidate provides some 
valid but vague ideas and at this 
point their answer is in Level 1 at 
this point. 

23  The candidate makes a 
developed statement which 
begins with ‘however, these major 
infrastructure projects will be costly’. 
They continue to develop this idea 
and explain that ‘we might have to 
loan money from other countries’ 
and then explain that ‘this will 
increase the negative balance of 
payments’. This is classed as a 
developed statement so the answer 
is now placed at Level 2 and the 
candidate is awarded 3 marks.  

24  The candidate continues the 
response on the back page but 
they make no other developed 
statements. Their ideas are all 
against developing infrastructure 
projects and they have not included  
a developed idea that would be for 
the development of such projects. 
They have not included any named 
examples or any evaluation in their 
answer either. 

Mark for (d) = 3 out of 6

Total mark awarded = 
13 out of 25

How the candidate could have improved their answer
•	 (a)(i) To be awarded the marks for this question, the candidate could state the name of the road or highway and 

provide a distance or direction from a named city or settlement. For example, ‘the airport connects to the Kashmir 
Highway and is located to the North of Lahore’. Candidates should avoid vague terms such as ‘close to’ or ‘near to’ 
when describing the location of features and places and should use the map fully to their advantage by stating the 
names of cities or settlements. 

•	 (a)(ii) The candidate needed to avoid using a single word such as ‘industries’, ‘people’ or ‘roads’ and be more 
specific, for example ‘the airport is located near to industries so that …’. In this instance it would be acceptable 
to use the word ‘near to’ as the question was not asking the candidate to describe the location. The candidate 
needed to say exactly what they meant, because in this case the candidate’s meaning was implied but not clear. 
For example, they could include ‘proximity to industries will encourage international trade so that goods can be 
imported and exported’. 

•	 (a)(iii) Both noise pollution and air pollution were acceptable disadvantages for people, although to improve their 
answer, the candidate could have added more detail such as ‘noise pollution from planes taking off and landing’ or 

23

22

24
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‘air pollution from proximity to runways’. ‘Traffic’ was not an acceptable answer here because the candidate was 
not specific enough. In addition, there were only 2 marks available for the disadvantages to people section and the 
full 2 marks were already awarded on this section of the question. The candidate was awarded no marks for the 
disadvantages for goods section. Their answer about cost needed to be more specific and their second answer 
about perishable and fragile goods not being able to be transported via air transport was incorrect. To improve their 
answer, the candidate could have said ‘it is expensive to transport goods internally or internationally by air’ and 
‘fragile goods could be damaged when loading or unloading’. 

•	 (b)(i) The candidate included a lot of unnecessary information about how ‘busy, well-developed and popular the 
seaport is’ but this was not needed for the question. The candidate needed to describe the features of the seaport. 
To improve their answer, in the third point about vehicles they could have been more precise, for example ‘there 
are lorries/trucks in the photograph’. 

•	 (b)(ii) The candidate correctly named two out of three seaports. The third seaport they needed to name was 
Karachi or Keamari. 

•	 (c) The candidate made two valid single points but to improve their answer they needed to develop each of those 
points, for example: ‘the port is essential for carrying out exports and imports which means that foreign exchange 
can be earnt’. For their second idea they could have included ‘many investors will be attracted which means that 
more employment opportunities can be created (or examples of job types created)’. 

•	 (d) The candidate provided a developed statement about why developing infrastructure may have negative 
consequences on the further economic development of Pakistan which moved the answer into Level 2. To 
improve their answer, the candidate needed to include a named example such as a place, road, airport or name 
of an investor (all of which would have been acceptable) and an evaluation about whether building major new 
infrastructure projects was the best way to encourage further economic development in Pakistan. Candidates 
should be encouraged to include a statement either at the start or end of their response stating what they think, 
for example: ‘I believe that building major new infrastructure is the best way for further economic development in 
Pakistan because…’ or ‘I think that building major new infrastructure is not the best way for the further economic 
development in Pakistan because…’. They need to be careful not to repeat their answer from earlier in the 
passage however. 
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Example Candidate Response – low Examiner comments

1  The candidate states that the 
airport is near to the ‘motorway of 
Islamabad’. Candidates need to 
avoid the use of ‘near to’ and be 
more specific. They provide no other 
description.

Mark for (a)(i) = 0 out of 2

2  The candidate suggests that 
airports could be built near to 
motorways for ease of access and is 
awarded a mark for this.

3  This factor is too vague and it is 
unclear what point the candidate is 
trying to make.

4  This response is too vague. It 
is unclear why the airport might be 
built near to a seaport. 

Mark for (a)(ii) = 1 out of 3

5  The candidate refers to an 
untrained pilot flying the plane which 
is irrelevant to the question so is not 
awarded a mark.

6  The candidate refers to the 
engine failing and the plane 
crashing which is irrelevant to the 
question so is not awarded a mark.

7  This suggestion is too vague, 
but with a slight adjustment it could 
have been awarded a mark. 

8  This suggestion is very unclear 
and vague so is not awarded a 
mark. 

Mark for (a)(iii) = 0 out of 4

1

2

3

4

5

8

7

6
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Example Candidate Response – low, continued Examiner comments

9  ‘Large ships’ is a correct answer 
- fifth point on the mark scheme.

10  The candidate correctly 
identifies and describes towers from 
the photograph - eighth point on the 
mark scheme. 

Mark for (b)(i) = 2 out of 3

11  This is the correct answer.

12  This is the correct answer. 

13  This is an incorrect answer. 

Mark for (b)(ii) = 2 out of 3 

14  The candidate recognises that 
machinery can be easily imported 
through the ports.

15  The candidate continues to 
develop their first idea a little further 
in a simplistic manner. They are 
awarded a development mark for 
the idea of being able to import and 
export goods through the seaports 
with the example of machinery 
provided in the earlier statement. 
However, the candidate also 
mentions cars after this statement. 

Mark for (c) = 2 out of 4

9 10

11
12
13

15

14
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Example Candidate Response – low, continued Examiner comments

16  The candidate does not provide 
any information that can be awarded 
any marks here. They make a vague 
point about people travelling to 
another place abroad for jobs, but 
this is not relevant to the question. 
They should explain how this would 
encourage or discourage further 
economic development in Pakistan 
through the development of major 
new infrastructure projects. 

17  The candidate makes a 
contradictory statement when they 
say ‘if more people can leave then 
more people can move in’. They 
then talk about how more land for 
farming would be needed to support 
them. This is not relevant to the 
question.

Mark for (d) = 0 out of 6

Total mark awarded = 
7 out of 25

How the candidate could have improved their answer
•	 (a)(i) The candidate used the vague term ‘near to’, but to improve their answer they needed to avoid vague 

terminology and be more specific. They only offered one idea in their answer, but they could have added that the 
airport connects to the Kashmir Highway.

•	 (a)(ii) The candidate provided three ideas in their response but two of these were too vague to understand what 
the points referred to. For their second idea, the candidate needed to say something like ‘near to large cities/areas 
of high population for employees or customers’. Instead, the candidate talked about locating the airport in rural 
areas where there is less population, which was incorrect. Their final idea referred to being near to a seaport, but 
the candidate did not give a reason for this. If they had referred to proximity to industries they would have been 
awarded a mark. 

•	 (a)(iii) The candidate gave answers about an untrained pilot flying the plane and engine failure for the section 
which referred to the disadvantages of air transport for people but these were not relevant to this question. To 
improve their answer, the candidate needed to think more in terms of delays or cancellation of flights, the expense 
of air tickets, types of pollution, lost luggage or the fact that air travel is not a door-to-door service. To improve their 
first idea for disadvantages of air transport for goods they could have added that fragile goods could be damaged 
when loading or unloading the plane or due to turbulence, but their response did not quite explain the problem. 
The candidate’s second idea did not make sense, so to improve this they could have talked about the difficulties of 
transporting bulky goods by air and that you can only transport smaller items or perishable goods. 

•	 (b)(i) The candidate needed to describe three features of the seaport from the photograph. They correctly 
described two features, the large ships and towers. The candidate included a lot of irrelevant information such as 
what the seaport can be used for but to improve their answer they needed to only describe what they could see 
from the photograph. 

17

16
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•	 (b)(ii) The candidate recalled the names of two seaports in Pakistan. To improve their answer, they could have 
named Port Qasim as the third port. 

•	 (c) The candidate provided and developed one idea and was awarded 2 marks for this. To improve their answer 
they needed to provide two ideas and develop them both. It would be wise for candidates to practice writing out 
an idea and then developing it, for example, ‘seaports are important because they can increase trade with other 
countries’. They could then develop this further by adding ‘this means that increased revenue can be used to pay 
off debts’. 

•	 (d) The candidate’s answer suggests that they didn’t understand what the question asked them to discuss. To 
improve their answer, the candidate could have identified the command word of the question and understood what 
it meant. In this case the command word was ‘evaluate’ and they had to ‘consider the evidence for and against a 
proposal and come to a judgement’. The candidate needed to provide a developed idea about how building major 
new infrastructure projects could encourage further economic development, give an example and go onto provide 
an argument about why building new major infrastructure projects would not be good for the further economic 
development of Pakistan. They needed to make a judgement at the end about whether they thought it was the best 
way to encourage economic development or not. 

Common mistakes candidates made in this question
•	 (a)(i) When asked to describe a location, many candidates used vague terms like ‘near to’, ‘close to’ and often they 

did not refer to named examples from the map or resource provided. Candidates rarely used the scale.
•	 (a)(ii) Many candidates wrote a bullet point list when asked to describe factors. They needed to avoid lists and 

bullet points and ensure that they described their idea succinctly and precisely.
•	 (a)(iii) Some candidates repeated the same idea in both sections, but they could only be awarded the mark once. 
•	 (b)(i) Some candidates did not discuss the content of the photograph, instead they discussed what they thought 

was happening in the photograph, what it was being used for, what should be there or even what they could not 
see and they could not be awarded any marks for this. 

•	 (c) Some candidates provided four single ideas without developing them. This limited the marks they could be 
awarded to just two out of a possible four. 

•	 (d) Many candidates only developed one side of their argument. They either agreed that major new infrastructure 
projects were the best way to further economic development in Pakistan or they were against the idea. Candidates 
needed to provide an argument in favour and an argument not in favour. Many candidates also did not provide an 
example or a judgement. 
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Question 4

Example Candidate Response – high Examiner comments

1  The candidate correctly places 
the line for the division of 11% and 
9%. 

2  The candidate identifies and 
uses the correct shading for Sindh. 

3  The candidate identifies and 
uses the correct shading for Gilgit-
Baltistan.

Mark for (a) = 3 out of 3

4 The candidate completes all 
three words correctly so they 
are awarded full marks. 

Mark for (a)(ii) = 3 out of 3

1
2

3

4
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Example Candidate Response – high, continued Examiner comments

5 The candidate identifies all 
three functions correctly.

Mark for (b)(i) = 3 out of 3

6 The mark scheme allows for 
extraction of timber and other 
products so ‘fruits’ would also be 
acceptable alone. The candidate is 
awarded 1 mark for this.

7 The candidate is awarded 1 
mark for ‘bind the soil’ as the mark 
scheme states their main function is 
to protect the soil. 

Mark for (b)(ii) = 2 out of 2

8 The candidate identifies that 
Alpine trees grow at 4000-5000 m so 
they are awarded 1 mark.

9 The candidate identifies that 
Coniferous trees grow at  
1000-4000 m so they are awarded 
the second mark.

10 The candidate identifies that 
mangrove trees and irrigated forests 
grow at low altitudes so they are 
awarded the mark.

Mark for (b)(iii) = 3 out of 4

5

6

7

8

9

10
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Example Candidate Response – high, continued Examiner comments

11  The candidate states that ‘soil 
erosion will occur’ so is awarded 1 
mark.

12  The candidate is awarded 1 
mark for their point about flooding.

Mark for (c) = 2 out of 4

11

12
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Example Candidate Response – high, continued Examiner comments

13  The candidate makes a simple 
point about passing laws to limit 
deforestation so the answer is 
placed in Level 1.

14  It is not clear what the candidate 
means by ‘resulting in good 
environment’. This does not develop 
the first point and the answer does 
not move into Level 2.

15  The candidate suggests 
irrigation which is not relevant in 
this instance and is not an initiative 
for forestry and encouraging further 
sustainable development. Although 
drip irrigation in its own right is a 
sustainable method of irrigation. 

16  The candidate makes another 
simple statement so they are 
awarded 2 marks and the answer is 
still in Level 1 for two simple ideas.

17  The candidate links their answer 
to irrigation again which is not 
relevant. 

18  The candidate does not add 
any new information, and does not 
develop any of their ideas, so they 
cannot be awarded any extra marks 
here. 

Mark for (d) = 2 out of 6

Total mark awarded = 
18 out of 25

How the candidate could have improved their answer
•	 (a)(i) The candidate correctly and accurately completed the pie chart. They used the key to identify the shading 

required for the two different provinces that they needed to add to the graph and accurately drew the line in the 
correct place to show 11% and 9% respectively. 

•	 (a)(ii) The candidate included the correct words in the correct gaps in the gap fill exercise so they were awarded 
full marks. 

•	 (b)(ii) The candidate knew that productive forests were mostly used for extraction of fruits and to provide timber 
although they only needed to give one idea. They stated that protection forests ‘bind the soil and prevent erosion’ 
and they were awarded both marks. Their second comment ‘and protect from sudden climate change’ could not 
have been awarded a mark because it was too vague and forests could not protect against sudden climate change. 

•	 (b)(iii) The candidate used the resource well and identified the types of trees that grow at different altitudes. 
To improve their answer and be awarded the fourth mark they could have added ‘more trees growing at lower 
altitudes’ or ‘more variety of trees grow at lower altitudes’. The candidate’s point about the amounts of trees was 
too vague.

•	 (c) The candidate identified two impacts of deforestation ‘soil erosion’ and ‘flooding’ however, they did not explain 
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how this occurred due to deforestation. For example, the candidate stated that there were ‘less trees to bind the 
soil together’ but this was vague because it is the tree roots that bind the soil together and reduce infiltration rates. 
The candidate needed to link this to the increase in flooding. For their second idea about flooding, the candidate 
discussed roads being flooded but they needed to focus on deforestation affecting the natural environment of 
Pakistan and roads do not count as the natural environment. The candidate’s point about air pollution at the end of 
the answer was not relevant.

•	 (d) The candidate’s answer was placed in Level 1 and they were awarded 2 marks. They provided two simple 
ideas which they did not develop further. Both their ideas encouraged further sustainable development and 
they did not provide an alternative opinion. To improve their answer, the candidate needed to develop one of 
their ideas; they could have suggested that for imposing laws to reduce deforestation to be successful financial 
incentives could be provided to the landowners to encourage them to plant more trees and stop cutting them down. 
Alternatively, the candidate could have discussed how they would enforce the new laws. To improve their answer 
even further, they needed to include a second idea to show how initiatives such as this may not be successful. The 
statement they made at the end of their answer agreed with the question that initiatives could encourage further 
sustainable development. If the candidate had already given two developed statements, then this would have 
placed their answer in Level 3. The candidate also named an example of a type of tree ‘Eucalyptus’ which would 
also have placed the answer in Level 3. 
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Example Candidate Response – middle Examiner comments

1  The candidate identifies and 
uses the correct shading from the 
key for both Gilgit-Baltistan and 
Sindh. 

2  The candidate draws the line 
accurately to divide 11% and 9%.

Mark for (a)(i) = 3 out of 3

3  The candidate correctly 
identifies all three words and fills 
them in.

Mark for (a)(ii) = 3 out of 3

1
2

3
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Example Candidate Response – middle, continued Examiner comments

4  Furniture and firewood are both 
correct but construction is incorrect.

Mark for (b)(i) = 2 out of 3

5  The candidate is awarded a 
mark for ‘wood for making furniture’. 

6  The candidate’s point about 
preventing landslides is allowed 
because the mark scheme states ‘to 
protect the soil’.  

Mark for (b)(ii) = 2 out of 2

7  The candidate does not need to 
explain why the types of vegetation 
are found at different altitudes, but 
they are awarded a mark for stating 
that Riverain and Mangroves grow 
at lower altitudes. 

8  The candidate is awarded 
another mark because they identify 
the altitude that coniferous forests 
grow at. 

9  The candidate includes 
some irrelevant information about 
coniferous forests.

10  The candidate identifies that 
Alpine forests are grown above 
4000m so is awarded the third mark.

11  The remainder of this 
information is not relevant to this 
question.

Mark for (b)(iii) = 3 out of 4

6
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Example Candidate Response – middle, continued Examiner comments

12  The candidate is awarded a 
mark for the siltation idea, even 
though they do not say ‘increased 
siltation of rivers’. The candidate 
seems to mix up siltation and soil 
erosion so they cannot be awarded 
a mark.

13  The candidate conveys the 
idea of soil being eroded through 
landslides. They express this 
weakly, but are still awarded a mark 
for the idea of soil erosion.

Mark for (c) = 2 out of 4

13

12
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Example Candidate Response – middle, continued Examiner comments

14  The candidate’s answer up 
until this point is not relevant to the 
question. Here they suggest the 
benefits of having forests but do 
not link them to further sustainable 
development or initiatives for 
growing forests. 

15  The expense of planting trees 
is a relevant and simple idea which 
places the answer in Level 1. 

16  This comment is not detailed 
enough for Level 2 and it is not clear 
whether it is a follow on from the 
expense idea or if it is a separate 
idea. It can be classed as another 
simple statement and the answer 
stays in Level 1. 

17  The candidate makes another 
simple statement so the answer 
remains in Level 1. 

Mark for (d) = 2 out of 6

Total mark awarded = 
17 out of 25

How the candidate could have improved their answer
• (a)(i) The candidate accurately drew the line and used the correct shading. They were not penalised for having 

Gilgit-Baltistan and Sindh in the wrong order because technically the smallest sector should be drawn last on a pie 
chart.

• (b)(i) The candidate’s answer ‘construction’ was too vague and was not awarded a mark, but they were awarded 2 
marks for furniture and firewood. The candidate needed to add more detail to words such as construction, 
manufacturing or industry and ask themself ‘construction of what?’ to help add this detail. It could be argued
that construction would come under the same line of the mark scheme as furniture for which they were already 
awarded a mark.

• (b)(ii) The candidate gained both marks available but their answers were quite brief and somewhat repetitive from 
the previous question. Candidates should avoid repeating the same ideas multiple times if possible. The 
candidate’s ideas of extracting wood for making furniture and to prevent landslides were acceptable alternatives to 
the ideas on the mark scheme.

• (b)(iii) The candidate included a lot of detailed explanations but these were not necessary. To improve their answer 
and be awarded the fourth mark the candidate needed to include a simple statement identifying that more trees 
grow in lower altitudes (or vice versa that less trees grow in high altitudes).

• (c) The candidate demonstrated some knowledge of the effects of deforestation on the natural environment but 
mixed up their ideas or did not express the development of their idea particularly clearly. To improve their answer, 
they could have included that there would be no roots to slow down infiltration or surface runoff which means that 
more siltation in rivers would occur.

• (d) The candidate’s answer was placed in Level 1 and they were awarded 2 marks for two or more simple 
statements about the problems of initiatives for growing forests. To improve their answer and place it in Level 2 
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or 3, the candidate needed to include an example or evaluation and develop one of the simple statements. The 
candidate included a lot of information at the start of their answer that was not relevant to the question. Candidates 
are advised to identify the command words of the question and then to identify the key or important words in the 
question before starting to write their answer.
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Example Candidate Response – low Examiner comments

1  The candidate does not attempt 
this question. 

Mark for (a)(i) = 0 out of 3

2  The candidate correctly selects 
and inserts all three words into the 
correct space. 

Mark for (a)(ii) = 3 out of 3

Typesetting instructions: 

1. Question X heading in 'Main heading 18pt' paragraph style.
2. Insert image of candidate script for this question from file name 

indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

3. In Examiner comments, all = 'Examiner comments' paragraph style.
4. 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
5. Do not change the column widths.

1

2
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Example Candidate Response – low, continued Examiner comments

3  The candidate states two 
correct ideas.

Mark for (b)(i) = 2 out of 3

4  The candidate’s first difference 
is too vague. It is unclear what 
needs or wants are fulfilled. 

5  The candidate’s second point is 
not a difference between protection 
and productive forests, because all 
forests provide oxygen. 

Mark for (b)(ii) = 0 out of 2

6  This statement is not relevant 
and does not answer the question, 
so the candidate is not awarded any 
marks. 

Mark for (b)(iii) = 0 out of 4

3

4
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Example Candidate Response – low, continued Examiner comments

7  The candidate does not name 
the type of pollution caused by 
deforestation. They then move on 
to discuss industries which are part 
of the human environment (not 
the natural environment which the 
question asks for). 

8  This statement appears to be 
unfinished. It is too vague for the 
candidate to be awarded any marks. 

Mark for (c) = 0 out of 4

7

8
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Example Candidate Response – low, continued Examiner comments

9 Preventing deforestation and 
attracting tourists is a simple idea. 

10 The candidate’s answer about 
weather conditions and environment 
being good is vague and they are 
not awarded any marks. It is not 
clear what the candidate means by 
‘good’.

11 The candidate offers a simple 
idea of using the forests for trade.

12 The candidate makes a vague 
statement which is not linked 
directly to forests or sustainable 
development.  

Mark for (d) = 2 out of 6

Total mark awarded = 
7 out of 25 

How the candidate could have improved their answer
• (a)(i) The candidate did not attempt the question so could not be awarded any marks. Candidates should attempt

all questions rather than miss them out completely.
• (a)(ii) The candidate correctly selected and inserted all three words into the correct spaces, so they were awarded

all 3 marks.
• (b)(i) The candidate’s answers ‘wood’ and ‘food’ were both on separate lines of the mark scheme so they were

awarded 2 out of 3 marks.
• (b)(ii) The candidate’s first idea needed to be more detailed. Their second idea needed to be a difference between

the two types of forests.
• (b)(iii) The candidate did not understand the requirements of the question here and did not use the resource to

answer the question. Candidates are advised to study the resources provided for questions that include them
before starting to write their answer.

• (c) The candidate’s two ideas were too vague and it was unclear what the candidate was referring to. The first idea
mentioned industries, but they needed to discuss the natural environment. Their second idea seemed to discuss
the habitats of animals being destroyed but the candidate needed to state this much more clearly. To improve their
answer, the candidate needed to read through their answers to ensure that they were complete and made full
sense.

• (d) The candidate wrote two simple sentences which placed this answer in Level 1 and was awarded 2 marks.
They had a vague idea that forest initiatives would encourage tourism and provide an income for Pakistan but they
needed to develop their ideas, provide examples of initiatives and include an evaluation at the end.

9
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Common mistakes candidates made in this question
• (a)(i) Many candidates did not attempt this question. Some candidates drew their line and shading over parts of the

pie chart that had already been completed, such as over the first segment. Some candidates did not use a ruler
or a pencil and as such were not accurate enough with the drawing of the line. Some candidates also used the
incorrect shading for each segment or just drew on their own shading rather than using the key.

• (a)(ii) Some candidates used the same word multiple times or crossed out their answers many times. For gap fill
exercises candidates need to read the sentence with the word of their choice to test that it makes sense before
writing it. By reading and re-reading it through with the different words it should become clear as to which word fits
the gap.

• (b)(i) Some candidates wrote two or more similar answers which appeared on the same line of the mark scheme,
for example firewood and fuel. These are the same thing so candidates could only be awarded 1 mark for these.
Candidates need to try and give three different ideas when asked to state something and not leave any blank
answers.

• (b)(ii) Some candidates repeated the differences but slightly reworded them. Candidates needed to supply two
ideas for the question because it was worth 2 marks and also needed avoid writing over long responses.

• (b)(iii) Many candidates totally ignored the resource and did not refer to it at all, in many cases candidates were
not awarded any marks for this question. The resource was there to help candidates with their response. When
using a resource candidates needed to study the resource carefully before writing their answer.

• (c) Many candidates provided two effects of deforestation but did not develop them. This was an ‘explain’ question
and as such candidates needed to provide two effects and then develop each effect for the third and fourth marks.
Some candidates ignored the part of the question that referred to the natural environment and went on to provide
effects on the built or human environment which could not be awarded any marks.

• (d) Many candidates gave simple ideas such as limiting deforestation/implementing laws/fines for people breaking
the rules, or on the other hand the expense of planting trees/needing the land for other purposes, but very few
candidates provided both sides of the argument. Many candidates either only provided a one-sided view or didn’t
develop their ideas to move their answers into Level 2. In this ‘to what extent’ question, candidates needed to
say that for example initiatives, such as the billion trees initiative, they could provide a financial incentive for
landowners to plant trees and reduce deforestation. They could then say how this would be sustainable and
encourage further economic development. They then needed to provide an alternative view stating how forest
initiatives may not be sustainable or encourage further economic development. At the end of their answer, they
needed to make a judgement as to whether initiatives such as these were worthwhile or not.
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Question 5

Example Candidate Response – high Examiner comments

1  The candidate gives a correct 
definition.

Mark for (a)(i) = 1 out of 1 

2  The candidate gives four 
detailed and accurate push factors.

Mark for (a)(ii) = 4 out of 4

3  The candidate refers to the lack 
of skilled labour and is awarded 1 
mark.

4  The candidate suggests that 
women and children could be left 
behind and is awarded the second 
mark.

5  ‘Discourages development’ is 
also relevant so the candidate is 
awarded 3 marks. 

Mark for (a)(iii) = 3 out of 3
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Example Candidate Response – high, continued Examiner comments

6  The candidate does not 
use the resource to answer the 
question. Instead they use their 
own knowledge so they cannot be 
awarded any marks for this.

Mark for (b)(i) = 0 out of 3

6
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Example Candidate Response – high, continued Examiner comments

7  The candidate accurately draws 
the height and width of the bar. 

Mark for (b)(ii) = 1 out of 1

8  The candidate lists the 
provinces in the correct order. 

Mark for (b)(iii) = 1 out of 1

7
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Example Candidate Response – high, continued Examiner comments

9  This is correct. 

10  ‘Overcrowding’ is too vague so 
the candidate cannot be awarded 
a mark for this. Overcrowding can 
occur even if large numbers of 
people don’t live in a place. 

Mark for (b)(iv) = 1 out of 2

11  The candidate is awarded 1 
mark for this factor.

12  The candidate develops their 
answer. It is inferred by ‘people 
prefer’ that these areas will have 
more people living there. They 
are awarded a further mark for 
developing their answer.

13  The candidate is awarded 1 
mark for this physical factor. 

14  The candidate is awarded a 
mark here as the development 
for the land is more fertile and 
various crops can be grown, (even 
though they are in two separated 
statements). Again, the ‘people 
prefer’ infers a lot of people living in 
these areas. 

Mark for (c) = 4 out of 4
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Example Candidate Response – high, continued Examiner comments

15  The candidate’s first statement 
is developed and agrees with 
View B. They explain why this 
will encourage further economic 
development. This moves the 
answer into Level 2. 

15
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Example Candidate Response – high, continued Examiner comments

16  The candidate makes a well 
developed argument against View A. 

17  The candidate’s conclusion 
shows that they agree more with 
View B and suggests why this is 
best for the country. This moves the 
answer into Level 3.   

Mark for (d) = 5 out of 6

Total mark awarded = 
20 out of 25

How the candidate could have improved their answer
• (b)(i) The candidate did not use the resource provided to answer the question so they were awarded no marks.

They named provinces and a river to describe the distribution of urban population instead of using the map. The
candidate needed to use the scale or direction and the key to help describe the distribution. They needed to use
named places or features from the map to be awarded marks for this question. If it was not a named place or
feature from the map they should not use them.

• (b)(iv) The candidate needed to add more detail to their idea of overcrowding, which was a vague statement. It
could occur anywhere and not necessarily because large numbers of people live in a place.

• (d) The candidate provided two opposing views and they developed both. They agreed with View B and gave a
well-developed argument about how skilled people such as doctors moving into Pakistan could provide training
and sharing new ideas and technologies to encourage further economic development. The candidate then provided
an opposing view for View A when they explained that eventually all the family would move out of Pakistan leaving
Pakistan with a shortage of skilled workers. They made an evaluative statement at the end of the response. To
improve their answer and be awarded full marks, they needed to include an example.
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Example Candidate Response – middle Examiner comments

1 The candidate gives a correct 
definition and is awarded 1 mark.

Mark for (a)(i) = 1 out of 1

2 This is a correct push factor. 

3 The candidate’s second idea 
could apply anywhere and is a 
vague statement so is not awarded 
any marks. 

4 The candidate’s third point is not 
expressed well, but is understood to 
mean a lack of schools so they are 
awarded a mark.

5 The candidate suggests a 
correct factor.

Mark for (a)(ii) = 3 out of 4

6 This point is not relevant 
because the question asks for 
the impacts on the rural areas 
of Pakistan, not the urban or 
developed areas. 

7 This is correct. 

8 ‘Dependent citizens are usually 
left behind’ is correct. 

Mark for (a)(iii) = 2 out of 3

1

2

3

4

5

6

7

8



Example Candidate Responses – Paper 2

40

Example Candidate Response – middle, continued Examiner comments

9  The candidate uses their own 
knowledge and not the resource 
provided (the map), so they are 
awarded no marks.

Mark for (b)(i) = 0 out of 3
9
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Example Candidate Response – middle, continued Examiner comments

10  The candidate accurately draws 
a bar in the graph with the correct 
height and width. 

Mark for (b)(ii) = 1 out of 1

11  The candidate places all their 
answers in the correct order from 
highest percentage to lowest. 

Mark for (b)(iii) = 1 out of 1

10
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Example Candidate Response – middle, continued Examiner comments

12  Both of these ideas are vague 
and incorrect.

Mark for (b)(iv) = 0 out of 2 

13  The candidate does not explain 
any physical factors and so they 
cannot be awarded any marks.

14  These ideas are not related to 
physical factors so they cannot be 
awarded any marks.

Mark for (c) = 0 out of 4

12
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Example Candidate Response – middle, continued Examiner comments

15 The candidate offers a 
developed idea which places the 
answer in Level 2. 

16 This is a simple statement 
which does not provide another 
developed idea.

Mark for (d) = 3 out of 6

Total mark awarded = 
11 out of 25

How the candidate could have improved their answer
• (a)(ii) To improve their answer, the candidate needed to provide a specific example about why there was a low

standard of living or a poor quality of life, as these were subjective ideas.
• (a)(iii) The candidate needed to provide a third idea about the impacts on the rural areas. This could be negative or

positive.
• (b)(i) The candidate provided a list of named places (from their own knowledge) and stated the number of people

living there but this did not answer the requirements of the question. To improve their answer the candidate needed
to use the resource to describe the distribution. Any reference to named provinces/towns or cities could not be
awarded any marks because they were not named on the map.

• (b)(iv) The candidate needed to give two correct answers and ensure they included enough detail. Overpopulation
is when there are not enough resources to meet the needs of the population so just because a large number of

15

16



Example Candidate Responses – Paper 2

44

people live in an area does not mean that overpopulation is occurring. ‘Unbalanced supply and demand’ was a 
vague statement and the candidate needed to suggest what was unbalanced. A specific example would have been 
better such as ‘not enough jobs for the number of people living there’.  

•	 (c) The candidate needed to talk about physical factors rather than human factors. They needed to read the 
question carefully before they started writing their answer. 

•	 (d) The candidate provided one developed idea, but needed to offer a second developed idea with the opposite 
opinion too. They made an evaluative comment at the beginning of their answer, but needed to include a named 
example too.
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Example Candidate Response – low Examiner comments

1  The candidate gives a brief but 
accurate definition. 

Mark for (a)(i) = 1 out of 1

2  ‘Facilities’ is too vague so this is 
not awarded any marks. 

3  This is a correct push factor.

4  The candidate suggests a 
correct idea. 

5  This statement is not expressed 
well, but the candidate is awarded a 
mark.

Mark for (a)(ii) = 3 out of 4

6  This point is not relevant. 

7  The candidate does not answer 
the question here and it is not 
entirely clear what they are referring 
to. 

8  This response seems to refer 
to the urban area with a higher 
population, rather than the rural 
area that the question asks for, so 
they are awarded no marks.

Mark for (a)(iii) = 0 out of 3
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Example Candidate Response – low, continued Examiner comments

9  The candidate needs to use the 
map to show where these areas are, 
for example by referring to the scale 
or direction.

10  The candidate is not awarded 
any marks here. 

Mark for (b)(i) = 0 out of 3

9
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Example Candidate Response – low, continued Examiner comments

11  The candidate draws an 
accurate bar on the graph. 

Mark for (b)(ii) = 1 out of 1

12  The candidate writes all the 
provinces in the correct order. 

Mark for (b)(iii) = 1 out of 1

11
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Example Candidate Response – low, continued Examiner comments

13  The candidate needs to state 
which type of facilities these are. 

14  The candidate is awarded a 
mark for ‘less house’.

15  The candidate needs to state 
which type of pollution, for example 
noise, air, water or land. 

Mark for (b)(iv) = 1 out of 2

16  This point is not relevant to the 
question.

17  This statement is not relevant to 
the question.

Mark for (c) = 0 out of 4
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Example Candidate Response – low, continued Examiner comments

18  The candidate makes a simple 
statement about skilled people 
moving into Pakistan and helping 
those who are less skilled (‘so they 
will get the chance to work under 
them’), so is awarded 1 mark.

Mark for (d) = 1 out of 4

Total mark awarded = 
8 out of 25

How the candidate could have improved their answer
•	 (a)(ii) The candidate needed to specifically state which facilities they were referring to, for example a lack of 

electricity supply. 
•	 (a)(iii) The candidate needed to read the question carefully and give the impacts on the rural area due to rural to 

urban migration. Instead they referred to the urban area. 
•	 (b)(i) The candidate should have referred to the map or the key to describe the population distribution of urban 

areas.  
•	 (b)(ii) The candidate accurately drew the bar. 
•	 (b)(iii) The candidate identified the order of provinces from the graph and wrote them in the correct order. 
•	 (b)(iv) The candidate was awarded a mark for their lack of housing idea, however to improve their answer the other 

two statements needed more detail. 
•	 (c) The candidate appeared to misunderstand the question. The information they provided was not relevant to the 

question being asked. 
•	 (d) The candidate made only one simple statement in favour of View B. To improve their answer, they needed 

to develop this and offer an alternative developed statement. They also needed to provide an example and an 
evaluative comment. 

18
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Common mistakes candidates made in this question
• (a)(i) Many candidates knew the definition for migration, however some candidates did not provide the full 

definition, for example they said ‘moving from a place’ instead of ‘moving from one place to another’.
• (a)(ii) Some candidates provided pull factors rather than push factors and they were not awarded marks for these. 

Some candidates duplicated their ideas which limited the number of marks they could be awarded. A small number 
of candidates did not attempt to provide four ideas.

• (a)(iii) Some candidates wrote about the impacts on the urban area rather than the rural area as the question 
asked.

• (b)(i) The question stated ‘using Fig 5.1 only’ but many candidates ignored this instruction and did not use the 
resource at all. Many wrote about provinces and individual towns and cities which were not named on the map. If it 
was not named on the map then that information could not be awarded any marks. Questions like this test the 
candidates’ skill to use the resource in order to answer the question rather than their recall of knowledge.

• (b)(ii) Some candidates lacked accuracy when drawing their graph and did not draw the correct height or width. 
Candidates needed to copy the way in which the rest of the graph was drawn, in this case as individual bars not 
touching each other. They needed to use a pencil and a ruler for tasks like this so that they could rub out and easily 
correct any errors that they may have made.

• (b)(iii) Some candidates did not read the graph accurately so they wrote the provinces in the incorrect order.
• (b)(iv) Some candidates gave vague responses such as pollution, overpopulation, less services or facilities. They 

needed to make sure they were specific and provided actual examples such as air pollution, lack of school places 
or shortage of electricity.

• (c) Many candidates either did not understand the question or ignored that it asked for physical factors as they 
wrote about human factors. Candidates who wrote about physical factors did not then go on to fully develop their 
idea and link it to population distribution e.g. ‘topography is important’ would be awarded 1 mark. If they followed 
this with ‘as more people live on flat land as it is easier to build on’ would be a developed point and awarded the 
second mark.

• (d) Many candidates gave simple ideas but did not develop them which limited the marks they could be awarded to 
within Level 1. Some candidates did develop their ideas but many provided one sided arguments which either 
agreed or disagreed with View A or B but did not provide a converse argument. Many candidates whose answers 
were placed in Level 2 did not move to the top end of Level 3 because they either did not provide an example or did 
not provide an evaluative comment about which view they agreed with more and why. 
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